
1 かさのたんいをけい算
さん

しよう。

① ３Ｌ　＝　　　　dL ④ ２０dL　＝　　　　Ｌ

② ７Ｌ　＝　　　　dL ⑤ ７０dL　＝　　　　Ｌ

③ １Ｌ　＝　　　　dL ⑥ ４０dL　＝　　　　Ｌ

4 ⑥ 7 ⑤ 2 ④

10 ③ 70 ② 30 ①

2年 かさのたんい(1) 31 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

3
1



1 かさのたんいをけい算
さん

しよう。

① １Ｌ　＝　　　　dL ④ １０dL　＝　　　　Ｌ

② ８Ｌ　＝　　　　dL ⑤ ６０dL　＝　　　　Ｌ

③ ９Ｌ　＝　　　　dL ⑥ ６０dL　＝　　　　Ｌ

6 ⑥ 6 ⑤ 1 ④

90 ③ 80 ② 10 ①

2年 かさのたんい(1) 32 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

3
2



1 かさのたんいをけい算
さん

しよう。

① １Ｌ　＝　　　　dL ④ １０dL　＝　　　　Ｌ

② ８Ｌ　＝　　　　dL ⑤ ７０dL　＝　　　　Ｌ

③ ９Ｌ　＝　　　　dL ⑥ ６０dL　＝　　　　Ｌ

6 ⑥ 7 ⑤ 1 ④

90 ③ 80 ② 10 ①

2年 かさのたんい(1) 33 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

3
3



1 かさのたんいをけい算
さん

しよう。

① ２Ｌ　＝　　　　dL ④ ４０dL　＝　　　　Ｌ

② ８Ｌ　＝　　　　dL ⑤ ５０dL　＝　　　　Ｌ

③ ２Ｌ　＝　　　　dL ⑥ ７０dL　＝　　　　Ｌ

7 ⑥ 5 ⑤ 4 ④

20 ③ 80 ② 20 ①

2年 かさのたんい(1) 34 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

3
4



1 かさのたんいをけい算
さん

しよう。

① ３Ｌ　＝　　　　dL ④ ４０dL　＝　　　　Ｌ

② ６Ｌ　＝　　　　dL ⑤ ７０dL　＝　　　　Ｌ

③ ３Ｌ　＝　　　　dL ⑥ ５０dL　＝　　　　Ｌ

5 ⑥ 7 ⑤ 4 ④

30 ③ 60 ② 30 ①

2年 かさのたんい(1) 35 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

3
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1 かさのたんいをけい算
さん

しよう。

① ３Ｌ　＝　　　　dL ④ ３０dL　＝　　　　Ｌ

② ６Ｌ　＝　　　　dL ⑤ ８０dL　＝　　　　Ｌ

③ ４Ｌ　＝　　　　dL ⑥ ２０dL　＝　　　　Ｌ

2 ⑥ 8 ⑤ 3 ④

40 ③ 60 ② 30 ①

2年 かさのたんい(1) 36 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① ３Ｌ　＝　　　　dL ④ ３０dL　＝　　　　Ｌ

② ９Ｌ　＝　　　　dL ⑤ ７０dL　＝　　　　Ｌ

③ ７Ｌ　＝　　　　dL ⑥ ６０dL　＝　　　　Ｌ

6 ⑥ 7 ⑤ 3 ④

70 ③ 90 ② 30 ①

2年 かさのたんい(1) 37 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① １Ｌ　＝　　　　dL ④ ４０dL　＝　　　　Ｌ

② ６Ｌ　＝　　　　dL ⑤ ９０dL　＝　　　　Ｌ

③ ６Ｌ　＝　　　　dL ⑥ ７０dL　＝　　　　Ｌ

7 ⑥ 9 ⑤ 4 ④

60 ③ 60 ② 10 ①

2年 かさのたんい(1) 38 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① ２Ｌ　＝　　　　dL ④ １０dL　＝　　　　Ｌ

② ５Ｌ　＝　　　　dL ⑤ ９０dL　＝　　　　Ｌ

③ ９Ｌ　＝　　　　dL ⑥ ８０dL　＝　　　　Ｌ

8 ⑥ 9 ⑤ 1 ④

90 ③ 50 ② 20 ①

2年 かさのたんい(1) 39 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

3
9



1 かさのたんいをけい算
さん

しよう。

① １Ｌ　＝　　　　dL ④ ２０dL　＝　　　　Ｌ

② ７Ｌ　＝　　　　dL ⑤ ６０dL　＝　　　　Ｌ

③ ３Ｌ　＝　　　　dL ⑥ ６０dL　＝　　　　Ｌ

6 ⑥ 6 ⑤ 2 ④

30 ③ 70 ② 10 ①

2年 かさのたんい(1) 40 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① ４Ｌ　＝　　　　dL ④ ３０dL　＝　　　　Ｌ

② ６Ｌ　＝　　　　dL ⑤ ５０dL　＝　　　　Ｌ

③ ２Ｌ　＝　　　　dL ⑥ ７０dL　＝　　　　Ｌ

7 ⑥ 5 ⑤ 3 ④

20 ③ 60 ② 40 ①

2年 かさのたんい(1) 41 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① １Ｌ　＝　　　　dL ④ ４０dL　＝　　　　Ｌ

② ６Ｌ　＝　　　　dL ⑤ ５０dL　＝　　　　Ｌ

③ ４Ｌ　＝　　　　dL ⑥ ６０dL　＝　　　　Ｌ

6 ⑥ 5 ⑤ 4 ④

40 ③ 60 ② 10 ①

2年 かさのたんい(1) 42 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① ３Ｌ　＝　　　　dL ④ １０dL　＝　　　　Ｌ

② ７Ｌ　＝　　　　dL ⑤ ７０dL　＝　　　　Ｌ

③ ９Ｌ　＝　　　　dL ⑥ ５０dL　＝　　　　Ｌ

5 ⑥ 7 ⑤ 1 ④

90 ③ 70 ② 30 ①

2年 かさのたんい(1) 43 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① ４Ｌ　＝　　　　dL ④ １０dL　＝　　　　Ｌ

② ６Ｌ　＝　　　　dL ⑤ ８０dL　＝　　　　Ｌ

③ ３Ｌ　＝　　　　dL ⑥ ３０dL　＝　　　　Ｌ

3 ⑥ 8 ⑤ 1 ④

30 ③ 60 ② 40 ①

2年 かさのたんい(1) 44 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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4



1 かさのたんいをけい算
さん

しよう。

① １Ｌ　＝　　　　dL ④ ２０dL　＝　　　　Ｌ

② ６Ｌ　＝　　　　dL ⑤ ９０dL　＝　　　　Ｌ

③ ７Ｌ　＝　　　　dL ⑥ ６０dL　＝　　　　Ｌ

6 ⑥ 9 ⑤ 2 ④

70 ③ 60 ② 10 ①

2年 かさのたんい(1) 45 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① ３Ｌ　＝　　　　dL ④ ４０dL　＝　　　　Ｌ

② ９Ｌ　＝　　　　dL ⑤ ９０dL　＝　　　　Ｌ

③ ７Ｌ　＝　　　　dL ⑥ ５０dL　＝　　　　Ｌ

5 ⑥ 9 ⑤ 4 ④

70 ③ 90 ② 30 ①

2年 かさのたんい(1) 46 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① ２Ｌ　＝　　　　dL ④ １０dL　＝　　　　Ｌ

② ８Ｌ　＝　　　　dL ⑤ ８０dL　＝　　　　Ｌ

③ ５Ｌ　＝　　　　dL ⑥ ６０dL　＝　　　　Ｌ

6 ⑥ 8 ⑤ 1 ④

50 ③ 80 ② 20 ①

2年 かさのたんい(1) 47 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① ３Ｌ　＝　　　　dL ④ ４０dL　＝　　　　Ｌ

② ５Ｌ　＝　　　　dL ⑤ ９０dL　＝　　　　Ｌ

③ ９Ｌ　＝　　　　dL ⑥ ６０dL　＝　　　　Ｌ

6 ⑥ 9 ⑤ 4 ④

90 ③ 50 ② 30 ①

2年 かさのたんい(1) 48 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① ３Ｌ　＝　　　　dL ④ １０dL　＝　　　　Ｌ

② ７Ｌ　＝　　　　dL ⑤ ５０dL　＝　　　　Ｌ

③ ６Ｌ　＝　　　　dL ⑥ ４０dL　＝　　　　Ｌ

4 ⑥ 5 ⑤ 1 ④

60 ③ 70 ② 30 ①

2年 かさのたんい(1) 49 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

4
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1 かさのたんいをけい算
さん

しよう。

① １Ｌ　＝　　　　dL ④ ３０dL　＝　　　　Ｌ

② ７Ｌ　＝　　　　dL ⑤ ６０dL　＝　　　　Ｌ

③ ８Ｌ　＝　　　　dL ⑥ ２０dL　＝　　　　Ｌ

2 ⑥ 6 ⑤ 3 ④

80 ③ 70 ② 10 ①

2年 かさのたんい(1) 50 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① ２Ｌ　＝　　　　dL ④ ４０dL　＝　　　　Ｌ

② ９Ｌ　＝　　　　dL ⑤ ７０dL　＝　　　　Ｌ

③ ７Ｌ　＝　　　　dL ⑥ ３０dL　＝　　　　Ｌ

3 ⑥ 7 ⑤ 4 ④

70 ③ 90 ② 20 ①

2年 かさのたんい(1) 51 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1



1 かさのたんいをけい算
さん

しよう。

① ４Ｌ　＝　　　　dL ④ ４０dL　＝　　　　Ｌ

② ９Ｌ　＝　　　　dL ⑤ ５０dL　＝　　　　Ｌ

③ ５Ｌ　＝　　　　dL ⑥ ７０dL　＝　　　　Ｌ

7 ⑥ 5 ⑤ 4 ④

50 ③ 90 ② 40 ①

2年 かさのたんい(1) 52 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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2



1 かさのたんいをけい算
さん

しよう。

① １Ｌ　＝　　　　dL ④ １０dL　＝　　　　Ｌ

② ８Ｌ　＝　　　　dL ⑤ ８０dL　＝　　　　Ｌ

③ ７Ｌ　＝　　　　dL ⑥ ４０dL　＝　　　　Ｌ

4 ⑥ 8 ⑤ 1 ④

70 ③ 80 ② 10 ①

2年 かさのたんい(1) 53 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

5
3



1 かさのたんいをけい算
さん

しよう。

① ４Ｌ　＝　　　　dL ④ ３０dL　＝　　　　Ｌ

② ９Ｌ　＝　　　　dL ⑤ ６０dL　＝　　　　Ｌ

③ ８Ｌ　＝　　　　dL ⑥ ５０dL　＝　　　　Ｌ

5 ⑥ 6 ⑤ 3 ④

80 ③ 90 ② 40 ①

2年 かさのたんい(1) 54 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

5
4



1 かさのたんいをけい算
さん

しよう。

① ２Ｌ　＝　　　　dL ④ ２０dL　＝　　　　Ｌ

② ５Ｌ　＝　　　　dL ⑤ ６０dL　＝　　　　Ｌ

③ ７Ｌ　＝　　　　dL ⑥ ４０dL　＝　　　　Ｌ

4 ⑥ 6 ⑤ 2 ④

70 ③ 50 ② 20 ①

2年 かさのたんい(1) 55 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

5
5



1 かさのたんいをけい算
さん

しよう。

① ２Ｌ　＝　　　　dL ④ ２０dL　＝　　　　Ｌ

② ６Ｌ　＝　　　　dL ⑤ ９０dL　＝　　　　Ｌ

③ １Ｌ　＝　　　　dL ⑥ ８０dL　＝　　　　Ｌ

8 ⑥ 9 ⑤ 2 ④

10 ③ 60 ② 20 ①

2年 かさのたんい(1) 56 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

5
6



1 かさのたんいをけい算
さん

しよう。

① ２Ｌ　＝　　　　dL ④ ４０dL　＝　　　　Ｌ

② ７Ｌ　＝　　　　dL ⑤ ６０dL　＝　　　　Ｌ

③ １Ｌ　＝　　　　dL ⑥ ６０dL　＝　　　　Ｌ

6 ⑥ 6 ⑤ 4 ④

10 ③ 70 ② 20 ①

2年 かさのたんい(1) 57 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

5
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1 かさのたんいをけい算
さん

しよう。

① ４Ｌ　＝　　　　dL ④ ２０dL　＝　　　　Ｌ

② ６Ｌ　＝　　　　dL ⑤ ６０dL　＝　　　　Ｌ

③ ２Ｌ　＝　　　　dL ⑥ ２０dL　＝　　　　Ｌ

2 ⑥ 6 ⑤ 2 ④

20 ③ 60 ② 40 ①

2年 かさのたんい(1) 58 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え

5
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1 かさのたんいをけい算
さん

しよう。

① １Ｌ　＝　　　　dL ④ １０dL　＝　　　　Ｌ

② ６Ｌ　＝　　　　dL ⑤ ６０dL　＝　　　　Ｌ

③ ８Ｌ　＝　　　　dL ⑥ ５０dL　＝　　　　Ｌ

5 ⑥ 6 ⑤ 1 ④

80 ③ 60 ② 10 ①

2年 かさのたんい(1) 59 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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1 かさのたんいをけい算
さん

しよう。

① ２Ｌ　＝　　　　dL ④ ４０dL　＝　　　　Ｌ

② ８Ｌ　＝　　　　dL ⑤ ７０dL　＝　　　　Ｌ

③ ５Ｌ　＝　　　　dL ⑥ ２０dL　＝　　　　Ｌ

2 ⑥ 7 ⑤ 4 ④

50 ③ 80 ② 20 ①

2年 かさのたんい(1) 60 月　　日

じこひょうか

か
さ
の
た
ん
い
(1)

こ
た
え
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